HW 2.6 (b) Key

1. Scott makes deposits at the beginning of each quarter of 7 years. The size of the quarterly deposits are 1
during year 1, 2 during year 2, 3 during year 3, and so on.

One quarter after the last deposit, Scott withdraws the accumulated value of the fund and uses it to buy a
perpetuity-immediate with level payments of .X at the end of each year. All calculations assume a
nominal interest rate of 12% per annum compounded quarterly. Calculate X. [4.h-i #05]
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2. Bill deposits money into a bank account at the end of each year. Bill's deposit in year ¢ is equal to 175t.
The bank credits interest at an annual effective rate of i. The amount of interest eamed in Bill's account
during year 10 is equal to 1050. Calculate i. [4.h-i #15]

A) 10.08% B) 9.07% C) 9.58% D) 10.59% E) 11.09%
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3. Joan has won a lottery that pays 600 per month in the first year, 725 per month in the second year, 850 per
month in the third year, etc. Payments are made at the end of each month for 8 years. Using an
effective interest rate of 5% per annum, calculate the present value of this prize. [4.h-i #34]

80,000 B) 72,500 C) 87,000 D) 94,000 E) 101,500
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4. Gloria borrows 5,000 to be repaid over 32 years. You are given:
() Her first payment is X at the end of year 1.
(ii) Her payments increase at the rate of 20 per year for the next 19 years and remain level for the
following 12 years.
(iii) The effect rate of interest is 7% per annum.
Calculate X. [4.h-i #35]

A) 210 B) 155 C) 175 D) 190 E) 230
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5. Annuity A pays 1 at the end of each mth of a year during year 1, 2 at the end of each mth of a year during
year 2, and so on, for 8 years.

Annuity B pays 1/m at time 1/m, 2/m at time 2/m, and so on, for 8 years.

The present value of annuity A is 1.1112 times the present value of annuity B at an annual effective
interest rate of 5.7%.

Find 4™

5.52% B) 541% C) 563% D) 574% E) 5.85%

"A = W\—‘\-\'\\\/ wmterest rate.

d(,m) \ ey ‘_\‘ - M
Nera: | = - =+ > 4 - M<\ \x) \+)

o \ 2 2 . - <

A: +— i ! — - —
Yavv - - } TR -2 B3I} - 3 - - 71 °8Y%Y --- ¥

P 2P 3P P 3P (P=Smj)

(o] ' 2 3 _. 1 2

B 1 ! + a - —
N e T RN S N IR

Sm"\(lc\}ﬂiﬂ = LWz (JJ\XIoL\mS

lt:—?\;—&f— =z () dgmj ~Bevy”
e

(3

e e
i 2 (=) N e
aziL - Bv: o= Lz lwm)| G 7 —8“"\/3

cRL - evf = \.\\\2.(%)(\-\/8) - ‘5(\.\\\2\ \/8

ani - 8v® +3CaD) v = Lz (39 )(-v)

_%
dLM\ - Lz (\-v® o.OSS\E]
=L - 3vE + 3L v

[t

Thot was -Qur\5 P\%\n-\— ?

See. nex¥ poge for an o\ternote seluren.



PV ot A =n(Ia)D

— (e e
PV % Q) = W\<1 O\)’%T_\L

%(1@‘_“;“1 = L2 (I"’“ ox\t%

| o .o
? G — 3" L2 ag"? ==
| o = : -
|
. e (,M\
anl -8t = L2 < oL ‘3\/‘3)

Y
L567948s = \.\\\7_4[ ae T 5.\3’-!'—\]

O.3SR\V\][A
g™

w
N
~J
o
e

i

— 5,134y

4 = [o.0551%)




